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General Instructions:

(i) There are 26 questions in all.

(ii) All questions are compulsory.

(iii) Marks of each question are indicated against it.

(ivY Questions number 1 to 10 are very short answer questions ,

carrying 1 mark each. Answer to each of these questions should i

not exceed 20 words. i

(v) Questions number 11 to 20 are short answer questions carrying

3 marks each. Answer to each of these questions should not exceed

80 words.

(vi) Questions number 21 to 25 are long answer questions carrying
5 marks each. Answer to each of these questions should not exceed
150 words.

(vii) Question number 26 is related to identification or locating and

labelling of geographical features on m.aps.

(viii) Outline maps of the World and India provided to you must be ~,~

attached within your answer-book. :
;

(ix) Use of templates or stencils for drawing outline maps is !

,

allowed. ;

ffl"ll-<l ~ : ,

(i) m q;] "jJff if{§llJ 2 6 ~ I

( i i) \lrJff JfR 3fRqrl{ if I

(iii) ~ JfR ~ w"J{;!f ~ 3iq; ~ if I r

(ivY JfR if{§llJ 1 \11 10 nq; 3drr MJ-"3"fr( cm;?f ffl" ~. 3#r ~ ffl" q;r 1 3iq; ~ I ~

Rif \11 ~ ffl" q;r "3"fr( 2 0 ~ \11 ~ q;r ";1tf "i!f;rr ~ I ~

,
(v) ffl" if{§llJ 11 \11 2 0 nq; MJ - "3"fr( cm;?f ffl" if 3#r ~ ffl" ~ 3 3iq; if I ~ ' ,

\11 ~ ffl" q;r "3"fr( 8 0 ~ \11 ~ q;r ";1tf "i!f;rr ~ I , J

,

(vi) ffl" if{§llJ 21 \11 25 nq; -ait-"3"fr( cm;?f ffl" if 3#r ~ ffl" iI; 5 3iq; ~. I ~ ~

\11 ~ ffl" q;r "3"fr( 15 0 ~ \11 ~ q;r ";1tf "i!f;rr ~ I

,~
( vii) ffl" if{§llJ 2 6 iiI rf ffl ::t, . Tf( ~ 7TlJ: m~-q; ~ ;it wqffi ~ fP./fff ~

3#r rflli;ctJrf q;H \11 ~ ~ I

(viii) ~ 3#r 8lmf ~~ ~ ~-'J:ll~ ;it 31Tl;it 6rP:-~'q)T if ~ ;rf{{t i IJ

q;7far1l: I t
I'

(ix) ~-11RFif::r m iI; fc;rir 'fif:rif ~ ~mMI' iI; m q;] 3Tj11fff 'iff ~ ~ I ~
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1. Which parts of U.S.A. and Europe have density more than 200 persons
k 1 1

per sq. m? -+-=1

2 2

~ ~ 3:j"i:tftqjT ~ -1{Uf1 ~ fCfi;:r mift -q: 2 0 0 ~ "5ifu q1f I' ~ (.'"II ~ I Co ~ ~ ~

~ ')

~~.

2. Define the term 'positive growth of population'. 1

-q]~ ~ '~'i~~1 ~ ~'iI(1-i~ ~' ~ ~ ~ I

3. What is nomadic herding? 1"1

i
I

T.j(.'"l~I~1 lf~T.jI~UI ~ ~ ?

. 4. Which is the busiest sea route in the world? 1 I

~-q:~~~m1f~~ ?

5. Name the terminal stations of the 'Orient Ex p ress' Railwa y . .!:.+.!:.=1
2 2

, 3itRTi:G ~~ ' ~ ~ 3Rf1 fu'U ~ ~ ~ ';rrI:f ~ I .

6. Name the metropolitan city of Karnataka State as per 2001 census. 1 ,1

,

, ~

~'ijIUI'i1 2001 ~ ~, ~fGqj ~ ~ ~QI'ijl~ "q:jT -;m:r ~ I :,

7. Name any two ferrous minerals other than iron or~. ~+~=1

~ ~ ~ ~, ~ ~ ~ ~ ~ -;m:r ~ I f:

"

;~

,!

'1

8. Which port has been developed to relieve the pressure of Chennai ';

Port? 1 ~

~~~ ~~~~~~, ~~"q:jT~~~~?

64/1 3 P.T.D.
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9. Name the air service which is widely used in the hilly areas of the

north-eastern sector of India. 1

'lffi:('f ~ 3W -1!cff ~ ~ ~ ~ if ~ ~ ~ ~ "CfPJ ~ 'qjT ;n'I:T

~I

10. Which source of pollution is responsible for acid rain?

~ -a;qf ~ ~ ~ 'qjT ~ ~ C~(~I~I ~ ?

11. Explain the concept of 'New Determinism' with a suitable example.

'-;rq R~T-I~CfI~' ~ ~ q;) ~ c~IQ(UI ~ ~ ~ I

12. Explain with examples the three economic factors influencing the

population distribution in the world. 3xl=

~ if ~oiij~1 ~ fcf(f{ur q;) ~ ~ ~ ~ ~ ~ q;) "3'~ .

~~I

13. What is subsistence agriculture? Mention any four characteristics of

primitive subsistence agriculture. 1 +2=3

";jftq;:r-~ ~ ~ ~ ? 3l11~~I<:1loi ";jftq;:r-mfu ~ ~ ~ ":qT{ ~~3:rf 'qjT

~~I

14. How are technological innovations an important aspect of modern

manufacturing industries? Explain any three aspects in this regard.
3xl=3

~i~lfil~l~ oiCfIT-lI, arr~ ~R~ful ~ ~ ~1{Uf ~ ~ "SI"q)R ~ ? W ~
if ~ ffi;:r ~ 3:rf q;) ~ ~ I

15. Explain any three characteristics of quaternary activities.

~ 1~~I~<:1ly'i ~ ~ ~ ~~3:rf ~ ~I~I ~ I

64/1 4
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16. Study the map given below and answer the questions that follow:

1+1+1=3

120. 130. 140. .

10

20.

20 A U S T R L I A

o'

~ 0 0 r lie -~=~,t,..~~~ 1
Kalg;;::- / \ ~ )

30

;,r

o.

110. 130. 140. 150.
I

(16.1) Name the railway line shown in the given map.

(16.2) Which are the terminal stations of this railway line?

(16.3) Name the ports located on the coast of Spencer Gulf through

'"

" which this railway line passes..

64/1 5 P.T.D.



! I
,
i

~ ~ ~ ~ 'qjT ~ ~ ~ 1-14--1I~~d m ~ ~ ~ : j
~

j

1200 1300 1400 1500E

200

31T~~fu~ I

"" ,

! i
I

00

j

00

~

~

1400 1500

(16.1) ~ ~ ~ ~ -q ~ ~ 'qjT -;:rrJT ~ I ;'
~"

(16.2) ~~~~~~~~~? ~
.

(16.3) ~ ~ ~ '(fc: -q"{ ~ m ~ -;:rrJT ~, ~ ~ ~ ~ ~

~ I

No.te : The following question is for the Blind Candidates only, in lieu of :

Q. No. 16. '~

t,

;{}?; : Rl--trnffgC1 J1"\V';:J c1iq<;r t;m69;r l1it~7Fi'iif ij; f(;r[!: J1"\V';:J "fk§lrr 16 c1i ~ W "ff I ~
I

What are Trans-Continental Railways? Write four features of ~

Trans-Siberian Railway. . 1 +2=i

I~-~~I~IYI<-l ~ ~ ~ ? ~-~I~~~<-Io"t ~ ~ ~ fq~~ ~ I ;
:

~
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1 Explain any three factors that determine the clustered or compact

rural settlements in India. 3x1=3

~ -q ~ 3:r4qf ~ "!rrJftUT ~ -q;) R~ ~ ~ ~ "ffi-;r ~ ~

-am:§l:r1~1

18. Study the diagram given below and answer the questions that follow:

1+2=3

Surface Water Withdrawals

Domestic

"; 9%"

.

".~~'~

(18.1) Why is the share of surface water very limited to the industrial
sector in India?

(18.2) Which sector accounts for most of the. suface water withdrawals

and why? Give one reason.

~ . 64/1 7 P.T.D.
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~~lT1J:~"(fiT~~~~~~lT1J:~~"3m~:

~~I(1~If04 '\if('f ~ RCt)ltil (RCt)I~-1I)

~

9%

~~

2%

~

89%

(18.1) ~ ~ anmm ~ ~ 'i-:j-(.ld~l~ ~ "(fiT ~ ~ ~ ~ ~ ?

(18.2) ~ ~ 'i-:j-('ld~l~ ~ ~ "(fiT ~~ ~ ~ ~ ~ ~ ? ~ qj"R"UT

~,

Note: The following question is for the Blind Candidates only, in lieu of

Q. No. 18.

~ : Fr1~ffifigrf J{f;r i1iq-c;r C;~ w~'lif iJ; fC;r[J: J{f;r ~ 18 iJ; ~ W ~ I

Why is the demand of water for irrigation increasing day-by-day in

India? Explain any three reasons. 3x1=3

~ ~ ~ ~ ~ ~ ~ 11T7T ~ - '5JfuFG;r ~ ~ ~ ~? ~"ffio;:r"q:jRUT

~I

19. "Conservation of minerals is more important than other resources."

Explain giving three arguments. 3x1=3

, '~ "(fiT ~ a:r;:<:r ~ ~ ~. ~ 31f~ l:j~~'\iUf ~ I ' , "ffio;:r ~ ~ m?:I"

CX-II(9I-I1 ~ I

64/1 8
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20. Explain any three major problems associated with urban waste !

disposal in India. 3x1.=3

~ .q: ~ 3:fqf!l.Tfl ~ ~ ~ ~ mo;r ~ ~an "C;f)l of-! I ~ I

~,

21. Examine the five bases of international trade which are responsible for

promoting international trade. 5x1.=5

~~ ~"C;f)l ~ ~ ~ '3~, 31~~ ~ ~"qT:q1 31rffrU"C;f)l ~

~I

22. What is settlement? Classify settlements of the world on the basis of

their shape into two categories. Mention any three characteristics of

each. 1+1+3=5

~ ~ "t1 ? ~ "C;f)l ~ -q)) ~ 3W1jfff ~ 31T'i:1R ~ ~ qJ1f # ~ I ~
q1f "C;f)l mo;r-mo;r rq~l~dl~ ~ ~ I

23. How are physical and economic factors responsible for uneven

distribution of population in India? Explain with examples. 5x1=5

~ .q: ~-1~~1 ~ ~ ~ ~ ~ ~ 311\ ~ ~ ~ ~ '3~

i? ~i't.~~ I

24. Explain with examples any five geographical factors that affect

localisation of an industry at a particular place in India. 5x1=5

mm # ~ ~ ~ ~ ~ m"C;f)l arq~fu -q)) ~ ~ qffi ~ ~

~~ ~ "C;f)l "3""G~ . of-! I ~ I ~ I

25. How are Indian Railways contributing to the growth of national ti

economy? Explain with examples. 5x1=5 [1

~

,

:;

~ "t# ~ 31~ "C;f)l ~ .q: ~ ~ 71l'lGR '5rGR ~ ~ i ? '3~ ~

,

~~~I W

;.1

'1
1
I
;

\
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26. (26.1) In the given political outline map of the World (on page 13) the

following four features are shown: 4x.:!.=2
2

A. A major area of nomadic herding

B. A major sea port

C. A major air port

D. A mega city

Identify these features and write their correct names on the line
marked against each feature.

(26.2) In the given political outline map of India (on page 15), locate

and label the following with appropriate symbols: 3xl=3

(i) The state having highest percentage of urban population

(ii) The oil refinery located in Bihar

(iii) The southern-most major sea port of India

(26.1) ~ ~ ~ ~ '1\31-1lld~ t&r-~ (~ 13 'Q\) ~ 1-1~I(.1I~d "Tom: ~ .

~~~:
A. -q(.1~I~1 ~~-qI,UI qjT ~ ~

B. ~~~

C. ~ "CfT1J ~

D. ~ fuit

~~ C:ti1 ~~ ~~~~ ~fi11ift&r'Q\~~
~~I

(26.2) ~ ~ ~ ~ '1\31-1lld~ t&r-~ (~ 15 'Q\) ~ R~I(.1I~d C:ti1 ~

~~'[ro~~~~~~ :

(i) ~ ~ ~ \31-1ij~1 ~ qT"{1f ~

(ii) ~ ~ ~ ~ ~R~,UI~II(.11

(iii) ~ qjT ~~ ~ ~ ~

64/1 10
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Note: The following question is for the Blind Candidates .only, in lieu of

Q. No. 26.

~ : R 1'-1 m ffg r1 JiTR ~ ~~ w~TffJ'Iif it; f(;r(1: JiTR "fk§llT 26 it; ~ tR" ~ I

(26.1) Name the major sea port located along the western coast of

South Africa.

(26.2) Name the mega city of South Korea.

(26.3) Which state of India has the highest percentage of urban
population?

(26.4) Name anyone oil refinery located .in Assam.

(26.5) Which is the major sea port located in Andhra Pradesh? 5xl=5

(26.1) ~ ~ ~ ~ "('R: ~ ~ ~ ~ ~ ~ "q)T ~ ~ I

(26.2) ~ ~ ~ ~ fuit "q)T ~ ~ I

(26.3) ~"q)T ~ ~ ~ 3:fft..1ifI ~ \J1r1~(9f..(1 ~ ~ ~ ~ ?

(26.4) a:m-q ~ ~ ~ ~ ~ '-tR~~UI~II~1 "q)T ~ ~ I

(26.5) ~~~~~~~~~?

r

,

I:;

i!

~i

~
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For question no. 26.1 ffi ~. 26.1 ~ ~
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. , For question no. 26.2 m ~. 26.2 ~ ~
I

Outline Map of India (Political)

~ 'q)1 OO-~I~'Fa.,. «(I~~lfd~)
1

--.
"',

~

f ::1,""
r/"';--'~J ,.;-~

(.f'\,J \~ """",,-,-t:l~ ~(1'; ...{
(, " ~ -':~;~=~'a

~ )- \1., t:::' ~

~ /' ,.-'-)--.r~~
~ ' ..rL, ,.--'! !:,...1 ,

U r ,i,

.;{
-",.,J-I f

r#

~

{ .-ti, . .'
J't"\ I

.. 1: )r.,..l"- 1"
0 '. ~"""'...I"' . ..

0' :\,.0.. . 0. .
~

0.. " ( . .
. -.\

~

64/1 15


